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Figure S1: Trace plots, density plots and convergence plots of the posterior distribution of the estimated disease prevalence for the PSSA method, overall






Figure S2: Trace plots, density plots and convergence plots of the posterior distribution of the estimated disease prevalence for the PSSA method, males







Figure S3: Trace plots, density plots and convergence plots of the posterior distribution of the estimated disease prevalence for the PSSA method, females





Figure S4: Trace plots, density plots and convergence plots of the posterior distribution of the estimated disease prevalence for the PSSA method, 18-44 age group





Figure S5: Trace plots, density plots and convergence plots of the posterior distribution of the estimated disease prevalence for the PSSA method, 45-64 age group



Figure S6: Trace plots, density plots and convergence plots of the posterior distribution of the estimated disease prevalence for the PSSA method, 65+ age group
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